
X[0] <= 0.5
mse = 0.976

samples = 26274
value = 0.009

X[17] <= 0.5
mse = 0.658

samples = 20587
value = 0.278

True X[16] <= 0.5
mse = 0.905

samples = 5687
value = -0.976

False

X[1] <= 0.5
mse = 0.175

samples = 1123
value = -0.098

X[21] <= 1.351
mse = 0.677

samples = 19464
value = 0.3

X[11] <= 0.5
mse = 0.245
samples = 67
value = -0.379

X[21] <= 0.476
mse = 0.164

samples = 1056
value = -0.079

X[21] <= -1.0
mse = 0.157
samples = 56
value = -0.252

X[18] <= 0.5
mse = 0.292
samples = 11
value = -0.845

X[21] <= -1.231
mse = 0.07

samples = 14
value = 0.071

X[21] <= -0.988
mse = 0.145
samples = 42
value = -0.341

X[27] <= 0.5
mse = 0.026
samples = 11
value = -0.055

X[19] <= -1.019
mse = 0.021
samples = 3
value = 0.425

mse = 0.021
samples = 7

value = -0.004

mse = 0.017
samples = 4

value = -0.181

mse = 0.0
samples = 2
value = 0.497

mse = -0.0
samples = 1
value = 0.138

mse = 0.0
samples = 1

value = -0.958

X[19] <= 0.096
mse = 0.129
samples = 41
value = -0.303

mse = 0.115
samples = 25
value = -0.215

mse = 0.123
samples = 16
value = -0.419

X[19] <= 1.708
mse = 0.138
samples = 9

value = -0.581

X[5] <= 0.5
mse = 0.083
samples = 2

value = -1.488

X[19] <= 0.475
mse = 0.073
samples = 8

value = -0.482

mse = 0.0
samples = 1

value = -1.324

mse = 0.068
samples = 5

value = -0.337

mse = 0.003
samples = 3

value = -0.698

mse = 0.0
samples = 1

value = -1.238

mse = 0.0
samples = 1

value = -1.821

X[24] <= 0.5
mse = 0.145

samples = 812
value = -0.048

X[21] <= 1.996
mse = 0.217

samples = 244
value = -0.183

X[3] <= 0.5
mse = 0.131

samples = 530
value = -0.018

X[4] <= 0.5
mse = 0.166

samples = 282
value = -0.105

X[5] <= 0.5
mse = 0.095

samples = 242
value = -0.07

X[21] <= -1.521
mse = 0.156

samples = 288
value = 0.024

mse = 0.092
samples = 121
value = -0.125

mse = 0.092
samples = 121
value = -0.013

mse = 0.17
samples = 2

value = -0.571

mse = 0.154
samples = 286
value = 0.028

X[22] <= 0.5
mse = 0.153

samples = 230
value = -0.08

X[19] <= -0.625
mse = 0.202
samples = 52
value = -0.211

mse = 0.147
samples = 198
value = -0.108

mse = 0.153
samples = 32
value = 0.103

mse = 0.137
samples = 24
value = -0.071

mse = 0.229
samples = 28
value = -0.381

X[7] <= 0.5
mse = 0.212

samples = 221
value = -0.157

X[24] <= 0.5
mse = 0.2

samples = 23
value = -0.418

X[6] <= 0.5
mse = 0.207

samples = 218
value = -0.148

X[21] <= 0.871
mse = 0.141
samples = 3

value = -0.777

mse = 0.205
samples = 215
value = -0.157

mse = 0.045
samples = 3
value = 0.362

mse = 0.0
samples = 1

value = -1.227

mse = 0.009
samples = 2

value = -0.476

X[21] <= 2.25
mse = 0.043
samples = 10
value = -0.156

X[13] <= 0.5
mse = 0.227
samples = 13
value = -0.62

mse = 0.02
samples = 3

value = -0.312

mse = 0.03
samples = 7

value = -0.047

mse = 0.104
samples = 8

value = -0.307

mse = 0.116
samples = 5

value = -0.996

X[21] <= -0.05
mse = 0.612

samples = 17811
value = 0.327

X[19] <= 3.871
mse = 1.293

samples = 1653
value = 0.016

X[2] <= 0.5
mse = 0.518

samples = 10899
value = 0.372

X[21] <= 1.351
mse = 0.75

samples = 6912
value = 0.255

X[6] <= 0.5
mse = 0.644

samples = 5111
value = 0.327

X[9] <= 0.5
mse = 0.405

samples = 5788
value = 0.411

X[1] <= 0.5
mse = 0.504

samples = 5068
value = 0.323

X[16] <= 0.5
mse = 19.279
samples = 43
value = 0.97

mse = 0.527
samples = 494
value = 0.197

mse = 0.5
samples = 4574
value = 0.336

mse = 0.204
samples = 41
value = 0.408

mse = 297.157
samples = 2

value = 16.994

X[16] <= 0.5
mse = 0.368

samples = 4147
value = 0.436

X[5] <= 0.5
mse = 0.495

samples = 1641
value = 0.348

mse = 0.266
samples = 4040
value = 0.428

mse = 4.344
samples = 107
value = 0.748

mse = 0.565
samples = 454
value = 0.257

mse = 0.463
samples = 1187
value = 0.383

X[1] <= 0.5
mse = 0.747

samples = 6911
value = 0.255

mse = -0.0
samples = 1
value = 6.251

X[19] <= 0.005
mse = 0.855

samples = 368
value = 0.048

X[20] <= 0.5
mse = 0.738

samples = 6543
value = 0.267

mse = 1.147
samples = 23
value = -0.452

mse = 0.825
samples = 345
value = 0.075

mse = 0.726
samples = 5974
value = 0.252

mse = 0.837
samples = 569
value = 0.428

X[21] <= 2.326
mse = 1.207

samples = 1650
value = 0.009

X[16] <= 0.5
mse = 32.621
samples = 3
value = 4.992

X[27] <= 0.5
mse = 1.192

samples = 1425
value = 0.054

X[26] <= 0.5
mse = 1.208

samples = 225
value = -0.261

X[16] <= 0.5
mse = 1.406

samples = 974
value = 0.112

X[16] <= 0.5
mse = 0.706

samples = 451
value = -0.074

mse = 0.928
samples = 918
value = 0.075

mse = 8.311
samples = 56
value = 0.677

mse = 0.663
samples = 421
value = -0.022

mse = 0.742
samples = 30
value = -0.803

X[16] <= 0.5
mse = 1.207

samples = 196
value = -0.178

X[4] <= 0.5
mse = 0.853
samples = 29
value = -0.826

mse = 0.774
samples = 188
value = -0.225

mse = 10.92
samples = 8
value = 1.056

mse = 0.689
samples = 24
value = -1.029

mse = 0.608
samples = 5
value = 0.055

X[27] <= 0.5
mse = 1.428
samples = 2

value = -0.656

mse = 0.0
samples = 1

value = 10.641

mse = 0.0
samples = 1

value = -1.851

mse = -0.0
samples = 1
value = 0.539

X[1] <= 0.5
mse = 0.635

samples = 5013
value = -1.037

X[19] <= -1.48
mse = 2.713

samples = 674
value = -0.519

X[19] <= 0.875
mse = 0.376

samples = 337
value = -1.228

X[21] <= 1.198
mse = 0.65

samples = 4676
value = -1.023

X[21] <= 0.864
mse = 0.454

samples = 231
value = -1.143

X[24] <= 0.5
mse = 0.173

samples = 106
value = -1.402

X[29] <= 0.5
mse = 0.447

samples = 230
value = -1.148

mse = 0.0
samples = 1
value = 0.472

X[8] <= 0.5
mse = 0.399

samples = 186
value = -1.18

X[20] <= 0.5
mse = 0.648
samples = 44
value = -0.995

mse = 0.447
samples = 136
value = -1.136

mse = 0.21
samples = 50
value = -1.331

mse = 0.334
samples = 31
value = -1.121

mse = 1.3
samples = 13
value = -0.678

X[19] <= 2.271
mse = 0.142
samples = 88
value = -1.443

X[19] <= 1.298
mse = 0.288
samples = 18
value = -1.157

X[21] <= 1.95
mse = 0.154
samples = 75
value = -1.397

X[11] <= 0.5
mse = 0.042
samples = 13
value = -1.642

mse = 0.143
samples = 61
value = -1.459

mse = 0.126
samples = 14
value = -1.167

mse = 0.024
samples = 9

value = -1.706

mse = 0.039
samples = 4

value = -1.415

X[13] <= 0.5
mse = 0.094
samples = 5

value = -1.629

X[20] <= 0.5
mse = 0.254
samples = 13
value = -0.999

mse = 0.002
samples = 4

value = -1.765

mse = 0.0
samples = 1
value = -0.95

mse = 0.214
samples = 11
value = -0.911

mse = 0.015
samples = 2
value = -1.7

X[19] <= 1.139
mse = 0.686

samples = 3641
value = -1.0

X[2] <= 0.5
mse = 0.519

samples = 1035
value = -1.102

X[17] <= 0.5
mse = 0.659

samples = 3564
value = -1.006

X[19] <= 1.149
mse = 2.003
samples = 77
value = -0.713

X[13] <= 0.5
mse = 0.203

samples = 146
value = -0.814

X[21] <= -1.52
mse = 0.677

samples = 3418
value = -1.014

mse = 0.152
samples = 107
value = -0.885

mse = 0.299
samples = 39
value = -0.591

mse = 2.942
samples = 5
value = 0.11

mse = 0.673
samples = 3413
value = -1.015

X[19] <= 1.149
mse = 5.74

samples = 17
value = 0.153

X[22] <= 0.5
mse = 0.778
samples = 60
value = -0.939

mse = 0.453
samples = 16
value = -0.559

mse = 0.0
samples = 1
value = 7.632

mse = 0.141
samples = 21
value = -1.394

mse = 0.935
samples = 39
value = -0.727

X[21] <= 1.85
mse = 0.468

samples = 655
value = -1.175

X[21] <= 2.152
mse = 0.581

samples = 380
value = -0.976

X[19] <= 1.847
mse = 0.548

samples = 372
value = -1.121

X[18] <= 0.5
mse = 0.35

samples = 283
value = -1.25

mse = 0.537
samples = 369
value = -1.133

mse = 0.131
samples = 3
value = 0.105

mse = 0.423
samples = 142
value = -1.145

mse = 0.256
samples = 141
value = -1.352

X[20] <= 0.5
mse = 0.537

samples = 321
value = -1.028

X[13] <= 0.5
mse = 0.714
samples = 59
value = -0.72

mse = 0.453
samples = 278
value = -1.078

mse = 0.982
samples = 43
value = -0.684

mse = 0.384
samples = 34
value = -0.984

mse = 0.919
samples = 25
value = -0.424

X[21] <= -1.484
mse = 7.826
samples = 4
value = 1.949

X[19] <= 1.07
mse = 2.647

samples = 670
value = -0.534

X[25] <= 0.5
mse = 1.258
samples = 3
value = 0.08

mse = 0.0
samples = 1
value = 5.687

X[10] <= 0.5
mse = 0.082
samples = 2
value = 0.711

mse = 0.0
samples = 1

value = -1.815

mse = 0.0
samples = 1
value = 0.509

mse = -0.0
samples = 1
value = 1.115

X[21] <= 0.212
mse = 2.474

samples = 449
value = -0.638

X[19] <= 1.085
mse = 2.931

samples = 221
value = -0.325

X[21] <= 0.208
mse = 3.373

samples = 261
value = -0.427

X[14] <= 0.5
mse = 1.165

samples = 188
value = -0.912

X[27] <= 0.5
mse = 3.241

samples = 260
value = -0.455

mse = 0.0
samples = 1
value = 4.944

mse = 4.024
samples = 189
value = -0.286

mse = 1.197
samples = 71
value = -0.849

X[19] <= 0.342
mse = 1.099

samples = 163
value = -0.966

X[15] <= 0.5
mse = 1.461
samples = 25
value = -0.545

mse = 0.199
samples = 20
value = -1.372

mse = 1.202
samples = 143
value = -0.907

mse = 0.947
samples = 24
value = -0.722

mse = 0.0
samples = 1
value = 2.641

X[19] <= 1.081
mse = 1.358
samples = 3
value = 1.122

X[18] <= 0.5
mse = 2.915

samples = 218
value = -0.364

X[5] <= 0.5
mse = 0.026
samples = 2
value = 0.504

mse = 0.0
samples = 1
value = 3.286

mse = 0.0
samples = 1
value = 0.402

mse = 0.0
samples = 1
value = 0.758

X[19] <= 2.138
mse = 3.571

samples = 100
value = -0.125

X[19] <= 2.269
mse = 2.267

samples = 118
value = -0.567

mse = 4.111
samples = 77
value = 0.169

mse = 0.443
samples = 23
value = -1.125

mse = 1.696
samples = 98
value = -0.704

mse = 4.655
samples = 20
value = 0.148


